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Section A MULTIPLE CHOICE QUESTIONS [20 MARKS]
Question 1

Which of the following 1s NOT ONE of the ideological pillars on which the essential features of
communism were located?

1 The abolition of all nghts of inhentance.

2. State ownership of factories and agriculture, and the full utilization of state resources.

3. The establishment of private property and confiscation of all public property that would
then become pnvate property.

4, Free education for all children in public schools and the abolition of child labour in all

industries, irrespective of the ownership structure
Question 2

Which of the following best descnbes the demand conditions of Porter's diammond of national
competittve advantage?

1. A nation’s position with regard to production factors that enable the firm to compete in a
given industry

2 The degree of healthy competition that a firm must face in its local market.

3 The presence/absence of supplier and related industries that are locally and globally
competitive.

4 Conditions in the home industry that either hinder or aid the firm’s ability to create,

organise and manage the nature of domestic and international nivalry.

Question 3

Aliowing some Individual economic freedom but restrictng poliical participation 1s the
charactenstic of which of the foliowing political system?

1 Tnbal totaltananism.

2 Right-wing totalitananmsm.
3. Communist totalitananism.
4 Economic totalitananism.

Question 4

What 1s the aim of economic union as a stage of economic integration?

1 To Iiberalise movement of regional production factors.

2 To establish a common tanff and other trade policies towards non-member countries.
3. To abolish tanffs and non-tanff barners between member nations

4. Teo harmonise fundamental economic policies among member nations
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Question 5

The success of regional trade blocs and trade agreements depends on the following principles,
EXCEPT:

1. Managenal and labour union capabilities are necessary.

2. Members should be gecgraphically close and have easy access to each other.
3 Natural resources need to be available

4 An entrepreneurial culture is ymportant.

Question 6

The following are the determinants of economic freedom as deemed by the Index of Economic
Freedom, EXCEPT:

1. The efficiency of the rule of law In the judiciary and the ability to enforce contracts.
2. The fiscal burden of government, which encompasses income tax rates.
3. Labour market regulations, such as established work weeks and mandatory separation
pay
4, Formal market activihes excluding corruption, piracy and smuggling
Question 7

Culture 1s rooted 1n history and passed on from one generation to the next, implying that culture is
bound to evolve and change over time. Which of the following implies that culture 1s relative?

1. Culture 1s not specific to individuals.

2. Cultures are different from one another to a greater or a lesser extent

3. Culture 1s learned behaviour and ts based on human capacity to change

4, Culture is transgenerational and intergenerational

Question 8

Religion generally influences the social and business environments. What values of Hindu society
are important for international management?

1. Religious values, beliefs and traditions relating to work ethic, religious holidays and
dietary habtts may affect the effective operation of international firms.

2 Honesty and trust could result iIn companies readily committing resources in terms of
collaborative arrangements and alliances.

3 Profits earned in fair business are justified, but may not result from exploitation or
deceit.

4. Individuals with relatively greater political and economic freedom are expected to help

In creation of entrepreneunal free market capitalism and entrepreneunal inthiative.
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Question 9

According to Aregbeshoia et.al, ONE of the benehts of privatisation 1s

1. Narrowing and levelling caprtal markets

2. Attracting local production and foreign investment

3 Improving enterpnse efficiency and performance

4. Assuming the mode of unrealistic perfect competition.

Question 10

Which ONE of the PESTEL model factors lays credence on the market size of the host country?

1. Legal factors

2. Economic factors.

3. Paolitical factors

4 Technological factors.

Question 11

The decline In the value of a currency has no effect on the local deposit and purchasing power in
the local market. Why does translation exposure have a negative effect on the ownership of
shares?

1. The currency value of the parent MNEs m the consolidated balance sheet would
decrease.

2. The initially unprofitable translation exposure can become lucrative.

3. The percetved solvency and debt-to-equity ratio would provide for more opporturity for
borrowing in future.

4, The perceived negattive effect on the company’s eamings as a result of translation

exposure could lead to an increase in its share prices on the stock markets.

Question 12

Which of the following statements best describes the motivation for adopting an import substitution

strategy?

1. The more an economy relies on foreign supply for critical goods and services, the more
vulnerabie 1t becomes to the supplier influence

2. The more the country attracts foreign direct investment, the more foreign investors
dominate industnies where the country lacks competence and compatibility.

3. The more manufacturing activities take place in a country, the more efficiently wealth 1s
distnbuted among economic agents.

4, Governments may use sanctions against countries with poor human nght records, chiid

labour practice and political tyranny
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Questioni3

The Eclectic Paradigm or the Ownership-Location-Internalisation (OLI) framework of John
Dunning compares the rationale for adopting vanous entry modes by multinational enterprises
Using the framework, which ONE of the following entry modes should be adopted by a firm that is
concerned with absolute control over resources and technology?

1. Foreign Direct Investment
2. Franchising
3 Licensing.
4 Exporting.
Question 14

An antidumping policy I1s designed to redress the unfair trade practice. This policy 1s applied in
order to:

Establish the framework for conducting and practicing free trade.

Foster greater trade integration and iberalisation

Protect domestic producers against unfair competition.

Increase local manufacturing capacity of component parts at the expense of mere
assembling

rop

Question 15

According to internalisation theory, decision-making i1s based on a comparison between organising
activiies through the market or firm. Therefore, the practical application of this theory may suggest
that

1. MNEs exist in order to organise interdependence between subsidianes in different
operational facilities in vanous overseas countries

2. MNEs aim to appropriate all returns from their technological advantages in order to
create a sustainable competitive advantage.

3 MNEs In a low marginal productivity of capital country will transfer capital to a igher
margminal productmity country.

4, The local firm determines technology transfer via the consideration of spillover costs to

MNEs
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Question 16

Inflation 1s defined as the continuing general price increase of goods and services In South Africa,
the indices that are used to measure consumer related prices include the following, EXCEPT:

1.

The pnce changes of all goods and services that the typical consumer buys.

2. The price changes of all goods and services exciuding mortgage bonds in the urban
areas
3. The price changes of imported goods, caiculated at the point of entry
4. The price changes of all goods and services excluding fresh meat, fruit and vegetables
and interest on bank overdraft and value added tax.
Question 17

Which ONE of the following statements 1s a motivation for a country to move from a command to a
market economy?

1

New opportunities for the country to achieve information and knowledge transfer.

2. New opportunities to protect the home market from competitive pressures from foreign
Investors.
3 New opportunities for foreign investors to exploit the fragility of the economy to therr
own advantage.
4 New opportunities for a country to attain cross-cultural Iiteracy
Question 18

Which of the following statements best explains why high inflation rates could potentially tngger an
Increase In interest rate?

1.
2.
3

Interest rates are raised to discourage domestic credit consumption

Interest rates are raised to improve the purchasing power of the domestic currency
Interest rates are raised to discourage domestic savings in the face of a rapidly growing
economy.

Interest rates are raised to attract cheaper foreign imports in the face of lower domestic
production
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Question 19

Which of the following statements I1s a key distinguishing feature of foreign direct investment (FDI)
and international portfolio mvestment (IPI)?

1 Pls are always responsive to the needs and aspirations of domestic communrties

2 The foreign investor's stake must be of the equity ownership form in the case of FDI.

3 The IP] transaction must involve the use of capital markets in ways that do not
destabihse the domestic capital market.

4 IPI always imply a controling ownership stake in the domestic firm.

Question 20

The aim of operating financial strategies 1s to mmimise the effect of changing exchange rates on
the local firm's profitability In guarding against currency appreciation and high inflation, the host-
country local subsidiary must do all of the following, EXCEPT:

1. Pay ali debts that are denominated in strong currencies as quickly as possible.
2. Delay as far as possible paying obligations denominated in local currency.

3 Collect their debts as quickly as possible.

4, Take opportunity to sell fixed assets that cannot be affected by inflation
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SECTION B [50 MARKS]
SECTION B T

e Answer ANY TWO of the following three questions in your examination answer
book

* [ndicate the numbers of the questions that you answered clearly and correctly 1n
your examination answer book

e Also, Indicate the number of questions answered on the COVER of the
examination answer booklet

Question B 1

“An economic system can be defined as a set of economic pnnciples, processes and technologies
by which a country decides and organizes the ownership of resources and allocation of economic
resources in a way that fosters the economic philosophy of the people or country”

In ine with the above citation, you are expected to respond to the following assessment critena:
Assessment criteria:

B1.1  Bnefly discuss and distinguish between the THREE different types of economic systems
[9 marks]

B1.2 South Africa 1s considered to he somewhere between developing and developed
economies. What characteristics does South Africa possess that render this statement to
be true? [6 marks]

B13 Explain the role of inflation as an important factor that international management has to
consider in doing business with or investing in another country [10 marks]

[25 marks]
Question B 2

B21 Discuss and explain the role and benefits of quotas as one of the most prominent tarit
barriers in the history of international business. [12 marks]

B22 Clanfy the implications of trade barners on both domestic and international economies.
[6 marks]

B23 To what extend can the application of instruments of trade policy affect developing
countnes? [7 marks]

[25 marks]
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Question B 3

B3 1

B3.2

Your client, a South Afncan small firm, identifies an export opportunity and decides to
enter into an international trade agreement with another firm in China. What advice, as a
Business Strategic Consultant, can you provide to your client with regard to steps used In
export/import transactions? [15 marks]

Identify and explain the FOUR techniques that MNEs can use in positioning funds to
opttimize their internal resources [10 marks]

[25 marks]

[TOTAL MARKS FOR SECTION B: 50]
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